
SM2 1.4 odd answers 2019-2020 

1.  𝑦 = |𝑥| or absolute value; Transformation: reflect over 𝑥-axis or vertical reflections 

3.  𝑦 = 𝑥2 or quadratic; Transformation: translate of shift right 4 

5.  𝑦 = |𝑥| or absolute value; Transformation: translate or shift left 1 
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𝑥 work 𝑦 ordered pair 

–2 |−2| = 2 (–2, 2) 

–1 |−2| = 1 (−1, 1) 
0 |0| = 0 (0, 0) 
1 |1| = 1 (1, 1) 
2 |2| = 2 (2, 2) 

𝑥 work 𝑦 ordered pair 

–2 −2 = –2 (–2, –2) 

–1 −1 = –1 (−1,−1) 
0 0 = 0 (0, 0) 
1 1 = 1 (1, 1) 
2 2 = 2 (2, 2) 


